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1
Which pair of edges is not coplanar in the cube shown below?

[image: image1.png]



	1)
	[image: image2.png]EH



 and [image: image3.png]oD





	2)
	[image: image4.png]AD



 and [image: image5.png]F





	3)
	[image: image6.png]DH



 and [image: image7.png]AR





	4)
	[image: image8.png]AB



 and [image: image9.png]s







2
A right rectangular prism is shown in the diagram below.

[image: image10.png]



Which line segments are coplanar?

	1)
	[image: image11.png]s



 and [image: image12.png]BC





	2)
	[image: image13.png]HD



 and [image: image14.png]F





	3)
	[image: image15.png]GH



 and [image: image16.png]7B





	4)
	[image: image17.png]FA



 and [image: image18.png]GO







3
The diagram below shows a rectangular prism.

[image: image19.png]



Which pair of edges are segments of lines that are coplanar?

	1)
	[image: image20.png]AB



 and [image: image21.png]DH





	2)
	[image: image22.png]AR



 and [image: image23.png]Do





	3)
	[image: image24.png]BC



 and [image: image25.png]EH





	4)
	[image: image26.png]G



 and [image: image27.png]s
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A rectangular right prism is shown in the diagram below.

[image: image28.png]



Which pair of edges are not coplanar?

	1)
	[image: image29.png]BF



 and [image: image30.png]G





	2)
	[image: image31.png]BF



 and [image: image32.png]DH





	3)
	[image: image33.png]s



 and [image: image34.png]oD





	4)
	[image: image35.png]s



 and [image: image36.png]BC







5
A rectangular prism is shown in the diagram below.

[image: image37.png]



Which pair of line segments would always be both congruent and parallel?

	1)
	[image: image38.png]AC



 and [image: image39.png]7B





	2)
	[image: image40.png]7B



 and [image: image41.png]DE





	3)
	[image: image42.png]HF



 and [image: image43.png]AC





	4)
	[image: image44.png]DE



 and [image: image45.png]HF







6
The diagram below represents a rectangular solid.

[image: image46.png]



Which statement must be true?

	1)
	[image: image47.png]EH



 and [image: image48.png]BC



 are coplanar

	2)
	[image: image49.png]F



 and [image: image50.png]AB



 are coplanar

	3)
	[image: image51.png]EH



 and [image: image52.png]AD



 are skew

	4)
	[image: image53.png]F



 and [image: image54.png]G



 are skew



7
A straw is placed into a rectangular box that is 3 inches by 4 inches by 8 inches, as shown in the accompanying diagram. If the straw fits exactly into the box diagonally from the bottom left front corner to the top right back corner, how long is the straw, to the nearest tenth of an inch?

[image: image55.png]8in






8
The figure in the diagram below is a triangular prism.

[image: image56.png]



Which statement must be true?

	1)
	[image: image57.png]DE = AB





	2)
	[image: image58.png]




	3)
	[image: image59.png]AD| CE





	4)
	[image: image60.png]DE || BC







9
The bases of a right triangular prism are [image: image61.png]MABC



 and [image: image62.png]MNDER



.  Angles A and D are right angles, [image: image63.png]


, [image: image64.png]


, and [image: image65.png]12



.  What is the length of edge [image: image66.png]BE



?

	1)
	10

	2)
	12

	3)
	14

	4)
	16
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The bases of a prism are right trapezoids, as shown in the diagram below.

[image: image67.png]



Which two edges do not lie in the same plane?

	1)
	[image: image68.png]BC



 and [image: image69.png]




	2)
	[image: image70.png]AW



 and [image: image71.png]oy





	3)
	[image: image72.png]Do



 and [image: image73.png]




	4)
	[image: image74.png]BY



 and [image: image75.png]AB
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The diagram below shows a right pentagonal prism.

[image: image76.png]



Which statement is always true?

	1)
	[image: image77.png]BC|| ED





	2)
	[image: image78.png]PG| CD





	3)
	[image: image79.png]7 || 5





	4)
	[image: image80.png]GB|| HC
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A roll of candy is shown in the accompanying diagram.

[image: image81.png]



The shape of the candy is best described as a

	1)
	rectangular solid 

	2)
	pyramid

	3)
	cone

	4)
	cylinder
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The lateral faces of a regular pyramid are composed of

	1)
	squares

	2)
	rectangles

	3)
	congruent right triangles

	4)
	congruent isosceles triangles
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Which piece of paper can be folded into a pyramid?

	1)
	[image: image82.png]




	2)
	[image: image83.png]




	3)
	[image: image84.png]




	4)
	[image: image85.png]
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As shown in the diagram below, a right pyramid has a square base, ABCD, and [image: image86.png]s



 is the slant height.

[image: image87.png]



Which statement is not true?

	1)
	[image: image88.png]FA = BC





	2)
	[image: image89.png]




	3)
	[image: image90.png]MNARE

BEC





	4)
	[image: image91.png]MNCED



 is isosceles
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The bases of a right prism are triangles in which [image: image92.png]


.  If [image: image93.png]MP



, [image: image94.png]MR =18



, and [image: image95.png]M =12



, what is the length of [image: image96.png]NS



?

	1)
	9

	2)
	12

	3)
	15

	4)
	18



1
ANS:
1
REF:
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2
ANS:
4
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061503ge

3
ANS:
3
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4
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4
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011406ge

5
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4
REF:
081401ge

6
ANS:
1
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011221ge

7
ANS:


9.4.  Looking at the bottom of the box two-dimensionally, diagonal [image: image97.png]


 because of the Pythagorean triple.  Looking at the box three dimensionally, [image: image98.png]


 and [image: image99.png]


 are the legs of a triangle, with the straw as the hypotenuse, or [image: image100.png]


  [image: image101.png]5 +g?
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  [image: image102.png]



REF:
060334a

8
ANS:
3

The lateral edges of a prism are parallel.
REF:
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11
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13
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3
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15
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2
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16
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